tension 1 cable [kips] tension 1 cable [kips]

tension 1 cable [kips]

1911711

Td tensions: Td12

25

20

@)
\\\\‘\\\\

S

LdCell 1LdCell 2

W

10

time [hour]

Td4

35

30

25

20

LdCell 1LdCell 2

10

time [hour]

1d8

20

30

25

20

LdCell 1LdCell 2

10

time [hour]

20



191112 Td tensions: Td12

:

5 10 15 20
time [hour]

30

LdCell 1LdCell 2

25

(

20

tension 1 cable [kips]

Td4

35
30 LdCell 1LdCell 2

25

20

.
i

=__ | | ==

tension 1 cable [kips]

-

5 10 20
time [hour]
17d8
- LdCell 1LdCell 2 .
— 30F —
0 - .
(0N L _
= F ]
© o .
IS - ]
g 20 *:
C

o .
° ]
§ 10 E
O: ‘ ‘ ‘ ‘ ! ‘ ‘ ‘ \ .

5 10 20

time [hour]



30

20

tension 1 cable [kips]

4““““‘\““ %“““\““‘4

W
(@)

tension 1 cable [kips]

30

25

20

tension 1 cable [kips]

191113 Td tensions: Td12

LdCell 1LdCell 2

g%

/.

5 10 15 20
time [hour]
Td4
E LdCell 1LdCell 2 g
= | | L L L L L L L | .
5 10 15 20
time [hour]
17d8
- LdCell 1LdCell 2 .
'
: | | L L L L L L | :
5 10 15 20

time [hour]



tension 1 cable [kips] tension 1 cable [kips]

tension 1 cable [kips]

W
(@)

N
(@)
HHH‘HHH

(@)

W
(@)

N
@)

N
O

N
@)
\\\\‘\\H‘\H\‘H

191114 Td tensions: Td12

LdCell 1LdCell 2

5 10

time [hour]

Td4

15

20

LdCell 1LdCell 2

5 10

time [hour]

20

H%\H\\l\\\\!\

1d8

LdCell 1LdCell 2

]

5 10

time [hour]

15

20



tension 1 cable [kips] tension 1 cable [kips]

tension 1 cable [kips]

191115 Td tensions: Td12

B8O
- LdCel| TLdCell 2

60—

40—

5 10 15

time [hour]
Td4
c0E S E
50; LdCell |1 LdCell 2 é
40 E
30 E- =
% hk | \ | 3
20E=" A I | =
A “‘
opl U B v E
Og L | L L L 1 | | g
5 10 15 20
time [hour]
17d8
30 | —
LdCell 1LdCell 2 E
25 —
20 H /
15H
ol -
5% W E
O: ‘ ‘ ‘ ! ‘ ‘ ‘ ‘ ‘ ‘ ‘ ! ‘ ‘ A L

5 10 15 20
time [hour]



tension 1 cable [kips] tension 1 cable [kips]

tension 1 cable [kips]

N W
(@) (@)

(@]

30

25

20

35

30

25

20

191116 Td tensions: Td12

LdCell 1LdCell 2

AHHHH\‘HH\HR

5 e e

5 10 15 20
time [hour]

Td4

LdCell 1LdCell 2

1!4#»

5 10 15 20
time [hour]

1d8

LdCell 1LdCell 2

5 10 15 20
time [hour]



tension 1 cable [kips]

W
(@)

(@)

tension 1 cable [kips]
N
)

N N W
(@) @) (@)
T T ‘ T T ‘ T T ‘ T T ‘ T T ‘ T

@)

(@]

tension 1 cable [kips]

191117 Td tensions: Td12

LdCell 1LdCell 2

H\HHH‘HHHHHHHW‘—G—H

i e e 0 O O

It

5 10 15
time [hour]

Td4

20

LdCell 1LdCell 2

time [hour]

20

1d8

LdCell 1LdCell 2

5 10
time [hour]




